Physics 11 Note Booklet #2: Kinematics

Pythagorean Theorem Review
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You can determine the length of the hypotenuse of a right triangle if you have the legs.
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You can determine the length of one of the legs of a right triangle if you have one of the legs and the
hypotenuse. 2
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Right Angle Trig Review

Remember sinf = ?_ﬁ. cosf = _Ail tanf = Qﬁ[’
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You can determine the length of the unknown side of a right triangle using trig:
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You can determine an unknown angle of a right triangle using trig:
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2-D Vectors

Recall a SCD\QF hasonly ¥\ 09/\: -L’ Je where as a \/EL-lor
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Sketch the following displacements

5 metres North 5 metres East 5m SW 5m 25° N of E

To add vectors we put them tail to tip. Frank walks 5 metres North and 8 metres East. What is their

displacement? i
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To subtract vectors we add the opposite. Consider 5m North minus 4m East, What is the result?
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Vector Components ~’
We can break a vector into its horizontal and vertical (.,OM |0 0/] en S

Someone walks 25m 35° North of East. How far to the North have they gone? How far to the East?
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We can use components to add (or subtract) vectors which are not at right angles.

A plane is pointed 50° North of East and is flying at 150 m/s relative to the air. There is a wind blowing
20 m/s due south. How fast and in what direction does the plane travel?
S/n50 %150

1§
E - Almls

\900
R cosSoxis0 = 964275

t
l
{
50 !

' o =

\\/é_—-ZO /5

28




Physics 11 Note Booklet #2: Kinematics

Practice: Roughly sketch 65m, 36° N of E. Then break it into its North component and East component.
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Roughly sketch 65m/s, 12° above the horizontal, and break it into its vertical and horizontal
components.
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Use components to add: 56 m NW + 98 m SW
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